/l/(élf/chlO/\/ (:q// 6P (ZE),ZI')
/L//%/Ld’/fa/;//m S ///M/#;

() -
[ Ag)= Fxxy Tyt Of = xts iy

g = i . r\"m £ 3 0 )
%“f =% il = g ygf =2
O/Kgf:&yxjc: I;ZX
_ [Qxxf élyf]ﬁ[!ﬁﬂg 2x
Héf(;‘zw = q " : -

&/jx"‘ 0’y7} 2 ¥ J
Af=2a(3x+ay) —4x'= 2x+ay
iaasfwa [/CL( ) f; X Lél o=t @{k L—t’-';?:y>o

) ax b+ ay >=
By &= §g><kf%ﬁg>b €D T gy e

3 x 4 gy >
@ X L g o >s g(
fegppola®-in]  —Hs—
/%///
e o d=-txt

() Ler =g ot Xy

y, (2= . P Y e «f_LZ 75 77 RY
"]L‘]:G[KL) - va X X /yL]
yb ) x4 < - r X ¥
Cé\ﬁcﬁe A rovgs D/L & (Y(w 4 ol v ﬁ)
So 'f‘fgg,[/ & ff\)&’\/ﬁjwuf/(; (QT& =/
ﬂ%‘ ?:&Tv - ?(/])\(J: <&73)’r/\ 6}7?\\
m— TJT@/‘\&T);t .




x»ré*rlf)xf%%r + X ) >o f x#=

—= /I Vs SPD Wﬂ@/’”@/ﬁujj
xA)T= A A= %A

Ak = w A [

= XA (s PP

(/’V()?:/JT K:/}k‘ Al("s J;/jwy,p/}]}'
9?/:'%“ 5{;/)’:'5 AT BE ' Py
A= (C-clc- ccx

ff I =dn (5 eren -/)(_T/*}K)(:f)fﬂ“y

= KT A= A% )" A= [[A%f >0
=o E A= Eu==
If wdutl s oL = ¢ Te
2 ety
= Q)T A = € AY) (A%
=/ Ak |[ro = D (CAH% D a=o
So_  ACr 5P 0




(3]
g"nmce m—')T: mr)d;/j-: A’—/ Y fjmm(/f“/(('
/(‘\4 )—)’)/) =2 A= C'c C . 21 et r.‘yzj«/m/g\
5o A=) =)= T

=) e€)) =5

Yoo LA /3 )7 =T aanrongle
S-. Alvs <P D

%K Yy et ;Q {/7‘”"’“6)"”'5 - A:/‘,j A[( ]
}g:[&‘ ‘) /’D)Z.L UUJ

[2

/a//g e = VS{ IO ]* 7/)9/; A’W#’J(

30) AFA=>B =) =cTRE)
NC—CTAC:K %//jlj Jjwmeb(
CAC=8 = A=c B \
Y\m,'[M%/ K ) fﬁ/MvW*Q”—VP(:; /)L«j_

(2) A2 spD= xBx=r"C"ACx
= )T Alx) >=  [Jox#<
Elx+o = K v PP
Sumihory g0 SPD= /9 0

4 Uv)uy= Vviuay =" =T
= UV s W/Zydf@z/(




. Y - 3 i 3
(a[) asler] A5
lé/q: IT4+ __{'}TI_L_‘_ y
_ MH%* D*“%f? ]
s (’f"‘*\’ﬂ‘-{

(2) A=A AN=AA= A=A (g Dy
QA = I*‘A*"?f;*u :IT/J""‘?T +§T*“ :j”}@-’}/f

@ = /~+'r_‘r g < )

£ e =T1A+4




(2) We sleav % 7%%( AR=FA = eA " Lph 5

% e’ﬂ:(:%'/z,’/’ )/?7&/6”)' j(’

Cp(:'[,l[/’/‘}l(_‘.(f(";)‘/ A”-’Jz (//(//ﬁ /f
—f-“*("—‘,‘)«/}/f #7/,/5

(A () AT /A*/ b)/i"’”
+ +/@) i (ArE)<

@



¥. ()  A=RU K verbe, s SP)
ATA= U U= AR
a2 128 = ['e )T )
Ao —6 [: AY—ro Nt bd=e (\~4,)(,\-,g);s

,.Z A-lo
=4, M= |6

/\‘24/*;): —6 "é ’J_? l ‘) E(il&;’['({]
JRSVVE [ El— 1 7) T

ATA= A 0,0 Uy + A o, 0 0
A :(J’/q%: (/\4‘7[7@(/\()« ‘+rJ//"\l (Z@CZ
= o (/(,QC?+4-M R,

‘+4[ (x)fj

l

&,lu

)— V\—:
9 %

‘ ‘

- 5% Je [ -3 g & o
1 ey - = = 7= —

((2- 1 = - ) © . oty JT A/_ﬁ o = JE JE  WE
)/\ }jo“l,)\[ﬁ,:ﬁc][Oibi‘[wtﬁaj\Z

T ¥ =} 1 - —L ’l/\ ’J/‘\

A A= [ :l( ) j N=3, 1 ;=d%. =1, j—\ T V3 W3
&_____,.—-—-——--ﬂ - W

C—J‘Df \/ v [Bs J/i wt«/( Q&eﬂv@‘f"v{ f/f% /f(/ij:: VTIZT/\/
AA=l 1(4‘“ 7. ][ //\/ =7y u '




